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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 8,002 2) 5,001 3) 8,003 4 5004
- 6,534 - 4,051 - 386 - 4,944 2
3.
4
5 8,006 6 5,009 7 6,005 8 3,009 >
- 4,953 - 906 -2,651 - 413 6
7.
8.
9 4,005 100 1,002 11) 5,005 12) 9,008 9.
- 277 - 592 -2,913 -6,453
—_— —_— —_— — 10.
11,
12,
13) 7,001 14) 4,002 15 9,009 16) 9,009 13.
-6,777 -2,094 - 3,285 - 3,647
- - - _ 14,
15.
16.
17) 1,007 18) 9,006 19) 9,006 200 9,002 17
- 946 - 5,065 - 4,373 - 1,475
18,
19,
20
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
N 1,468
1) 8,002 2 5001 3 8,003 4 5004
- 6,534 -4.051 - 386 - 4,944 , 950
1.468 950 7.617 60
3 7.617
4. 60
5 8,006 6) 5,009 7 6,005 8 3,009 > 3,053
- 4,953 - 906 -2.651 - 413 . 4103
3,053 4,103 3,354 2 596
- 3,354
8 2,596
9 4,005 100 1,002 1) 5 005 12)  9.008 o. _ 3,728
- 277 - 592 -2.913 - 6,453
-~ _—-c Sk b — 10 410
3,728 410 2 092 2 555
1 2,092
2. 2,555
13)  7.001 14) 4,002 15 9,009 16) 9.009 13 224
-6,777 -2.094 - 3,285 - 3,647
224 1,908 5 724 5 362 . 1,908
5 5,724
6. 5,362
17) 1,007 18) 9,006 19) 9,006 200 9,002 . 61
- 946 -5.065 -4.373 -1,475
61 3,941 4,633 7.527 18, 3,941
o 4,633
0 1,527
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
3,053 410 60 2,596
7,617 3,354 3,728 2,555 1.
2,092 4,103 1,468 950
2.
1) 8,002 2 5,001 3 8,003 3.
- 6,534 -4,051 - 386
- - - 4.
5.
6.
7.
4 5,004 5 8,006 6) 5,009
-4,944 - 4,953 - 906 8.
9.
10.
11.
7 6,005 8 3,009 9 4,005 12
- 2,651 - 413 - 277
100 1,002 11) 5,005 12) 9,008
- 592 -2,913 - 6,453
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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